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= 1. What value for the tant, , in the equation shown below will
- result in aﬁ\mﬁ@r of solutions? s
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; =t - 2. Paula has some blue and black pens in her bag. The number of blue
o L pens she has is three more than twice the number of black pens. She
e - = has 42 pens in all. How many blue pens does Katherine have?
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3. Write the equation of the line that passes through the points and.
X7 x ——
(5/-21)and (- _7) 7
. . M = \/:Z - \// B ;_z @-/‘ }dp/ -

e, S ales Y. T

Y= X -
7o) th —

Z =5
Hg,, —

'"/ - //‘_‘,,_,___._ —-\_\\ =

.,

K/ i —

A ST S

- -




Uge the diagram below to answer the following questions.

4, Which pair of angles are considered
supplementary? <__Z—and<__ 2

5. Which pair of angles are considered
complementary? <__| _and< =) 3

6. Raya is conducting an experiment. She spins the spinner shown 100
times.

What is the best prediction of the number of
times she will spin a 2?
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7. Mr. Burmeister randomly surveys_40 of his students. Of those, 18
participate in an after school activity. If Mr. Burmeister has a total of
140 students, how many would you expect to participate in an after

school activity?
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8. A builder needs to add diagonal braces to a wall. The wall is 16 feet
wide by 12 feet high. What is the length of each brace?
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9. The excavation fotjé house and the trucks to carry aV\{/z%/ the material
have the dimensions shown. About how many level truck loads are
necessary to remove all the dirt?
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10. Draw box and whisker for the given data:
3868,20/80,95,15,40,85,75 1 '
State the 5 points and find the IQR. ¢ 2 Lo 25 ygg% o
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